Calculate the amount of barley which used in 2014 the malting company. This company in the same year produced 351 000 tons of malt.

Yield rate:

V1 = 97 %

V2 = 83 %

V3 = 99 %

The price of barely is 5 000 CZK/t, the price of malt is 10 000 CZK/t. Then calculate total revenue from malt and total expenditure for used barely. Than calculate cash flow and cash flow per one ton of malt.
Than we have new situation – each yield rate is worse by one percentage point. Malt production and prices are the same. Calculate new results. Than calculate new cash flow and cash flow per one ton of malt.

Compare the results.
